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Which of the following is correct regarding the Governor of a State ?

He can recommend to the President to impose President's Rule in the State.

No money bill can be introduced in the State Legislature without his prior permission.
He has the power of issuing ordinances when the legislature is not in session.

All of the above

None of the above



Question Description Which of the following Constitutional Amendment reduced the voting age from 21 years to 18 years for the Lok Sabha and state

legislative assembly elections?

A 57th

B 48t

© 61

D 49t

E None of the above
Correct Answer C

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

In the year 2020, Indian Government banned 59 Chinese mobile apps, including TikTok invoking which section of IT Act 2000?
Sec.66 A

Sec.66F

Sec.72 A

Sec.69A

None of the above

How many types of Emergency have been visualised in the Constitution of India ?
Four
Three

One

Two

None of the above



Question Description In which of the following Article reasonable restrictions in the interest of public order or morality and sovereignty and integrity of India may be imposed on

the fundamental right of freedom to form association.

A Art.19(1)

B Art.19(2)

C Art.19(3)

D Art.19(4)

E None of the above
Correct Answer D

Marks 1

Question Description When there is a conflict between two or more statutes or two parts of the same statute, then the rule is
A Strict Construction

B Beneficial Construction
Cc Harmonious Construction
D Purposive Construction

E None of the above
Correct Answer C

Marks 1



Question Description No sentence of imprisonment for a term exceeding -------- shall be passed in the case of any conviction under Chapter XXI of Criminal Procedure Code

A Two years

B One year

C Six Months

D Three months

E None of the above
Correct Answer D

Marks 1

Question Description Limitation period to initiate any proceedings of contempt either on its own motion or otherwise under Contempt Courts Act 1971
A Three months

B Six months

Cc One Year

D Two years

E None of the above
Correct Answer Cc

Marks 1



Question Description Information Technology Act, 2000 directed the formation of a Controller of Certifying Authorities to regulate the issuance of?

A Data license

B IP address in India

C Internet service provider license

D Digital signatures

E None of the above

Correct Answer D

Marks 1

Question Description Habeas Corpus is associated with which of the given part of the Indian Constitution?
A Preamble

B Fundamental Rights

c Directive Principles of State Policy
D Fundamental Duties

E None of the above

Correct Answer B

Marks 1



11 Question Description In which of the following amendment the proviso was inserted to Section 164 of Code of Criminal Procedure Code which deals with “any confession or

statement may also be recorded by audio-video electronic means in the presence of the advocate of the person accused of an offence”.

A Act 5 0f 2009
B Act 13 0of 2013
(o4 Act 22 of 2018
D Act 25 of 2005
E None of the above
Correct Answer A
Marks 1
12 Question Description The President's Rule in a state means that the state is ruled by
A A caretaker government
B The Chief Minister nominated by the President
c The Governor of the State
D The President directly
E None of the above
Correct Answer C

Marks 1



13 Question Description How many fundamental duties are noticed in the Constitution of India?

A Nine
B Eighteen
c Eight
D Eleven
E None of the above
Correct Answer D
Marks 1
14 Question Description In which of the following case Supreme Court stated “Section 304-B IPC must be interpreted keeping in mind the legislative intent to curb the

social evil of bride burning and dowry demand” and also the Bench laid down guidelines for Dowry Death trials in the lower courts.

A Jayamma v State of Karnataka

B Satbir Singh v State of Haryana

(] Gurudatta Pathak v State of UP

D Pawan Kumar Gupta V State of NCT Delhi
E None of the above

Correct Answer B

Marks 1



15

16

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The doctrine of "Basic Structure" was evolved in which of the given cases?

MadhavlJiwaji Rao Scindia case

Kesavananda Bharti case

ChampakamDorairajan case

Golaknath case

None of the above

Under the provisions of Code of Criminal Procedure, 1973, confessions-

Can only be made to the authorised persons.

Only the Magistrate enjoys the power of recording confessions.

Made to the Police Officer are valid.

Made by the accuse while in police custody to a police officer is valid.

None of the above



17 Question Description Sub clause (3) for Sec.4 of Indian Penal Code i.e “ Any person in any place without and beyond India committing offence targeting a computer resource
located in India” was inserted in the code by

A Criminal Law ( Amendment)Act 21 of 2000
B Criminal Law ( Amendment)Act 10 of 2009
C Criminal Law ( Amendment) Act 13 of 2013
D Criminal Law ( Amendment) Act 22 of 2018
E None of the above
Correct Answer B
Marks 1

18 Question Description Which section of The Domestic violence act 2005 deals with Proceedings to be held in camera?
A Sec.13
B Sec.14
Cc Sec.15
D Sec.16
E None of the above
Correct Answer D

Marks 1



19

20

Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

According to the Immoral Traffic ( prevention) Act of 1956, on first offence what is the punishment for procuring, inducing or taking an adult person for

the sake of prostitution

One to Three years imprisonment and fine

Up to Two years imprisonment and fine

Three to seven years rigorous imprisonment and fine
No imprisonment and only fine

None of the above

The total number of members nominated by the President to the Lok Sabha and the RajyaSabha is
16
18
14

12

None of the above



21

22

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

The President of India is elected by an electoral college comprising of

Elected members of Lok Sabha and State Legislative Assemblies.

Elected members of both Houses of Parliament and State Legislative Assemblies
Elected members of both Houses of Parliament.

Elected member of State Legislative Assemblies

None of the above

Which section of The Probation of Offenders Act

Section 7 of The Probation of Offenders Act

Section 4 of The Probation of Offenders Act

Section 5 of The Probation of Offenders Act

Section 9 of The Probation of Offenders Act

None of the above



23 Question Description The term “taking cognizance” under the provisions of Code of Criminal Procedure, 1973 means-

A Starting a trial
B Completing preliminary requirements for starting a Criminal trial
c Taking notice of the matter judicially
D An administrative action to decide if criminal trial is required
E None of the above
Correct Answer C
Marks 1
24 Question Description Whoever, not being a member of SC or ST imposes or threatens a social or economic boycott of any person or a family or a group belonging to a Scheduled

Cast or Scheduled Tribe shall be punishable with imprisonment for ---

A Term which shall not be less than three months and which may extend to three years

B Term which shall not be less than six months and which may extend to three years with fine
(9 Term which shall not be less than Six months and which may extend to five years with fine
D Term which shall not be less than one year and which may extend to five years with fine

E None of the above

Correct Answer C

Marks 1



25 Question Description Limitation period for taking cognizance of the offence under Child Marriage Restraint Act 1929

A Six months
B One year
C Two years
D Three years
E None of the above
Correct Answer B
Marks 1
26 Question Description A licence under Sec.3 of Arms Act, shall unless revoked earlier, continue in force for a period of -------- from the date on which it is granted.
A Six months
B One year
C Three years
D No time limit
E None of the above
Correct Answer Cc

Marks 1



27 Question Description Which of the following statements hold true for the Magistrate’s power to send an accused to remand under section 167 of
the Code of Criminal Procedure

A If the investigation is not completed within 60 days

B The maximum period of remand in police custody cannot exceed 15 days
c The maximum period of remand in judicial custody cannot exceed 15 days
D If the investigation is not completed within maximum period of 90 days

E None of the above

Correct Answer B

Marks 1



28

29

Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

The protection under section 162 of the Code of Criminal Procedure, 1973 is —
Available in Civil Proceedings

Available for proceedings under Article 32 and/or 226 of the Constitution

Not Available in rape cases

Only available in Criminal enquiry or trial in respect of the offence under investigation

None of the above

Which of the following sections under Indian Evidence Act deals with *“ Oral admissions as to the contents of electronic records are not relevant unless the
genuineness of the electronic record produced is in question”.

Sec.22 A
Sec.45 A
Sec.65 A
Sec.65 B

None of the above



30 Question Description

A

Correct Answer

Marks

What is contained in the tenth schedule of the constitution ?
Languages recognised by constitution

Forms of oath or affirmation

Laws that cannot be challenged in any court of law

Provision regarding disqualification on grounds of defection

None of the above



31 Comprehension Read the passage and answer the following questions
Of all areas of learning the most important is the development of attitudes. Emotional reactions as well as logical
thoughts process affect the behaviour of most people. The burnt child fears the fire” is one instance, another is the rise
of despots like Hitler. Both these examples also point out the fact that attitudes stem from experiences. In the one case,
it was direct and impressive, in the other it was indirect and cumulative. The Nazis were indoctrinated largely by the
speeches they heard and the books they read. The class-room teacher in the elementary school is in a strategic position
to influence attitudes.

Question Description Identify from the options given below, a word or phrase that is a synonym of the term ‘cumulative’ in the sense it is used in the
passage

A unimpressive

B immediate

c snowballing

D delayed

E None of the above

Correct Answer C

Marks 1



32 comprehension Read the passage and answer the following questions
Of all areas of learning the most important is the development of attitudes. Emotional reactions as well as logical
thoughts process affect the behaviour of most people. The burnt child fears the fire” is one instance, another is the rise
of despots like Hitler. Both these examples also point out the fact that attitudes stem from experiences. In the one case,
it was direct and impressive, in the other it was indirect and cumulative. The Nazis were indoctrinated largely by the
speeches they heard and the books they read. The class-room teacher in the elementary school is in a strategic position
to influence attitudes.

Question Description From the passage it appears that the term ‘attitudes’ means ----
A fear of the burnt child

B experiences of most people

c emotional responses and logical thinking

D thinking, feeling and behaviour

E None of the above

Correct Answer D

Marks 1



33 comprehension Read the passage and answer the following questions
Of all areas of learning the most important is the development of attitudes. Emotional reactions as well as logical
thoughts process affect the behaviour of most people. The burnt child fears the fire” is one instance, another is the rise
of despots like Hitler. Both these examples also point out the fact that attitudes stem from experiences. In the one case,
it was direct and impressive, in the other it was indirect and cumulative. The Nazis were indoctrinated largely by the
speeches they heard and the books they read. The class-room teacher in the elementary school is in a strategic position
to influence attitudes.

Question Description Identify from the options given below, the word or phrase that is markedly antonymous of ‘despot’
A tyrant

B monarch

c democrat

o autocrat

E None of the above

Correct Answer C

Marks 1



34 Comprehension Read the passage and answer the following questions
Of all areas of learning the most important is the development of attitudes. Emotional reactions as well as logical
thoughts process affect the behaviour of most people. The burnt child fears the fire” is one instance, another is the rise
of despots like Hitler. Both these examples also point out the fact that attitudes stem from experiences. In the one case,
it was direct and impressive, in the other it was indirect and cumulative. The Nazis were indoctrinated largely by the
speeches they heard and the books they read. The class-room teacher in the elementary school is in a strategic position

to influence attitudes.

Question Description As per the passage, “The classroom teacher is in a strategic position to influence attitudes” because
A Attitudes are shaped by speeches heard and books read

B A teacher can shape attitudes through direct and indirect ways

c Of all areas of learning developing attitudes is most important.

D A teacher has direct as well as indirect access to the students

E None of the above

Correct Answer B

Marks 1



35 Comprehension Read the passage and answer the following questions
Of all areas of learning the most important is the development of attitudes. Emotional reactions as well as logical
thoughts process affect the behaviour of most people. The burnt child fears the fire” is one instance, another is the rise
of despots like Hitler. Both these examples also point out the fact that attitudes stem from experiences. In the one case,
it was direct and impressive, in the other it was indirect and cumulative. The Nazis were indoctrinated largely by the
speeches they heard and the books they read. The class-room teacher in the elementary school is in a strategic position
to influence attitudes.

Question Description Attitudes of most people can be gauged by
A their behaviour

B past experiences

c logical thought process

D emotional responses

E None of the above

Correct Answer A

Marks 1



36 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the following question:

A broad range of decisions, situations and problems may be encountered in the real estate field. An illustrative one is
the question of whether to buy or lease. In some cases, of course, there may be no real choice. A company may have
special requirements that make leasing difficult. Or they may be such a shortage of capital that owning is out of the
question. But often such restrictions do not apply. Some managers may prefer to develop policies to guide decisions as
to ownership or leasing of real property. The experiences of some businessmen bias them in favour of ownership. For
example, a manager who has lost a desirable location through the expiration of a lease is likely to establish the policy
that ownership is to be preferred in all but the most favourable lease situation. The company which uses its location

extensively in advertising and public relation efforts is apt to favour ownership very strongly against leasing.

Select a word or phrase from the passage which is not necessarily confined to ‘real estate’
capital

real property

leasing

ownership

None of the above

A
1



37 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the following question:

A broad range of decisions, situations and problems may be encountered in the real estate field. An illustrative one is
the question of whether to buy or lease. In some cases, of course, there may be no real choice. A company may have
special requirements that make leasing difficult. Or they may be such a shortage of capital that owning is out of the
question. But often such restrictions do not apply. Some managers may prefer to develop policies to guide decisions as
to ownership or leasing of real property. The experiences of some businessmen bias them in favour of ownership. For
example, a manager who has lost a desirable location through the expiration of a lease is likely to establish the policy
that ownership is to be preferred in all but the most favourable lease situation. The company which uses its location
extensively in advertising and public relation efforts is apt to favour ownership very strongly against leasing.

From the options given below, select the one which is obviously used in the passage with more than one meaning
leasing

real

capital

policy

None of the above



38 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the following question:

A broad range of decisions, situations and problems may be encountered in the real estate field. An illustrative one is
the question of whether to buy or lease. In some cases, of course, there may be no real choice. A company may have
special requirements that make leasing difficult. Or they may be such a shortage of capital that owning is out of the
question. But often such restrictions do not apply. Some managers may prefer to develop policies to guide decisions as
to ownership or leasing of real property. The experiences of some businessmen bias them in favour of ownership. For
example, a manager who has lost a desirable location through the expiration of a lease is likely to establish the policy
that ownership is to be preferred in all but the most favourable lease situation. The company which uses its location

extensively in advertising and public relation efforts is apt to favour ownership very strongly against leasing.
As per the passage, a major problem encountered with regard to real estate is

to make a wide range of decisions

having no real choice

the choice of whether to buy or lease

shortage of capital

None of the above

C
1



39 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the following question:

A broad range of decisions, situations and problems may be encountered in the real estate field. An illustrative one is
the question of whether to buy or lease. In some cases, of course, there may be no real choice. A company may have
special requirements that make leasing difficult. Or they may be such a shortage of capital that owning is out of the
question. But often such restrictions do not apply. Some managers may prefer to develop policies to guide decisions as
to ownership or leasing of real property. The experiences of some businessmen bias them in favour of ownership. For
example, a manager who has lost a desirable location through the expiration of a lease is likely to establish the policy
that ownership is to be preferred in all but the most favourable lease situation. The company which uses its location
extensively in advertising and public relation efforts is apt to favour ownership very strongly against leasing.

Ownership may not be preferred by a company that

makes extensive use of location

has shortage of capital

has requirements that make leasing difficult

has lost a location due to expiry of lease

None of the above



40 Comprehension

Question Description

A

Correct Answer

Marks

Read the passage and answer the following question:

A broad range of decisions, situations and problems may be encountered in the real estate field. An illustrative one is
the question of whether to buy or lease. In some cases, of course, there may be no real choice. A company may have
special requirements that make leasing difficult. Or they may be such a shortage of capital that owning is out of the
question. But often such restrictions do not apply. Some managers may prefer to develop policies to guide decisions as
to ownership or leasing of real property. The experiences of some businessmen bias them in favour of ownership. For
example, a manager who has lost a desirable location through the expiration of a lease is likely to establish the policy
that ownership is to be preferred in all but the most favourable lease situation. The company which uses its location

extensively in advertising and public relation efforts is apt to favour ownership very strongly against leasing.

As per the passage, the decision with regard to owning property is often based on

the policies of managers

the foresight of managers

the restrictions on the company

the experiences of losing leased property

None of the above



41 Question Description What is the theme of World Oceans Day 20227

A Innovation for a Sustainable Ocean
B Ocean: Life and livelihoods
C Gender and the Ocean
D Revitalisation: Collective Action for the Ocean
E None of the above
Correct Answer D
Marks 1
42 Question Description Who has inaugurated North India's first Industrial Biotech Park at Kathua in J&K?
A Narendra Modi
B Manoj Sinha
C Jitendra Singh
D Rajnath Singh
E None of the above
Correct Answer C

Marks 1



43 Question Description The 'Cannes Award' is given for excellence in which field?

A Films
B Journalism
C Literature
D Economics
E None of the above
Correct Answer A
Marks 1
44 Question Description Which year has Google Lens launched on the desktop through Google Chrome?
A 2022
B 2020
(5 2021
D 2019
E None of the above
Correct Answer C

Marks 1



45 Question Description Which city is called 'White City' of Rajasthan?

A Bihar
B Jaipur
C Udaipur
D Jodhpur
E None of the above
Correct Answer C
Marks 1
46 Question Description Tripitakas are sacred books of
A Buddhists
B Hindus
C Jains
D Christianity
E None of the above
Correct Answer A

Marks 1



47 Question Description Central Arid Zone Research Institute is located in

A Bihar
B Gujarat
C Rajasthan
D Madhya Pradesh
E None of the above
Correct Answer C
Marks 1
48 Question Description National Maritime Day of India falls on
A April 5
B June 5
C October 5
D September 5
E None of the above
Correct Answer A

Marks 1



49 Question Description What is the theme of the 'World Environment Day 2022'?

A 50th Environment Day
B Only One Earth
C Live with the Nature
D Invest in our Planet
E None of the above
Correct Answer B
Marks 1

50 Question Description Decibel is the unit for
A speed of light
B radio wave frequency
C intensity of sound
D intensity of heat
E None of the above
Correct Answer C
Marks 1

51



Question Description
For the word given on the top of the table, match the dictionary definitions given in the left hand column (A,B,C,D) with their corresponding usage given in

the right hand column (EFGH). Out of the four choices given below the table, identify the one that has all definitions and usage correctly matched and mark

its choice as your answer.

Up

A | towards or in a higher place Are the children still up?

B | out of bed Ever since they started the
business, it has been on the up
and up.

C |improving and becoming I sat up whenI heard the news.

more successful especially
financially

D |into an upright or raised We trudged slowly up the hill.

position
A
A |B C|D
E H |G|F
B
A |B Cc|D
H |E G |F
Cc
A |B Cc|D
E H |F |G
o A [B [C]D
H |E F |G
E None of the above

Correct Answer




Marks 1

52 Question Description How many points will be on the face opposite to in face which contains 2 points?
A 1
B 5
c 4
D 6
E None of the above
Correct Answer D

Marks 1



53 Question Description Directions: Study the following information carefully and answer the questions given beside.
In a certain code language,

‘Reach Is For Stars’ is written as ‘surdmolp’

‘Nothing Is Out Of Reach’ is written as ‘ka su hu Iklp’

‘For Love Of Life’ is written as ‘lkmo go ma’

‘Nothing Like Life Is’ is written as ‘Ip go hu ne’

Which of the following is the code for ‘Love Like Stars’ in the given code language?

A ma go Ip

B lkrd ne

C ne sumo

D rd ne ma

E None of the above
Correct Answer D

Marks 1



54

55

Question Description

A

B

Correct Answer

Marks

Question Description

Correct Answer

Marks

225:12:435:7?

12

20

25

19

None of the above

palette

easel

brush

textbook

lesson plan

artist

te

re

acher

port card

paint

None of the above

Cc
1




56 Question Description Statements: A=B>C>D<E,K<L>N=E,F>G>B>I1=]
Conclusions: I. D<L, II. D=L

A Neither C1 nor C2 follows
B Only C1 follows
C Both C1 and C2 follow
D Either C1 or C2 follows
E None of the above
Correct Answer D
Marks 1
57 Question Description Find the missing numbers

5143|7123
6 2 |5 4 |38
1

23 4 1 7
A 2 and 51
B 4 and 40
C 2 and 10
D 8 and 25
E None of the above
Correct Answer A

Marks 1



58 Question Description Divya started from her house at 6:30 AM and travelled some distance till 7:30 AM. After covering 75% of that distance further, she found that she had
covered 75% of total distance. Find the fraction of the total distance travelled by her by 8:30 AM.

(Given: She travels total distance with a constant speed)

A 3/7

B 4/7

Cc 6/7

D 2/3

E None of the above
Correct Answer C

Marks 1



59 Question Description Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:
oMl 7] [P dda®d
(A) (B (©) (D) m @ @ @ 6

A 1

B 2

(¢ 3

D 4

E None of the above

Correct Answer B

Marks 1



60 Question Description There is a certain relationship between two given pair on both side of "::' . One word is given on another side of "::' while another word is to be found from

the given options, having the same relation with this word as the words of the given pair . Choose the correct word from the following options.

Tectonics : Building : : Taxidermy : ?

A Classification

B Conserving

c Stuffing

D Collecting

E None of the above
Correct Answer C

Marks 1



61 Question Description What will be the addition of the third digit from the right end and the fourth digit from the left end of the number ‘768395241° after arranging all its digits in
descending order?

A 8

B 12

C 17

D 15

E None of the above
Correct Answer E

Marks 1

62 Question Description



Mirrorimages
M

=\

Z




63

Correct Answer

Marks

Question Description

Correct Answer

Marks

D

None of the above

Running at the same constant rate, 6 identical machines can produce a total of 270 bottles per minute. At this rate, how many bottles could 10 such machines

produce in 4 minutes?

648

1800

2700

10800

None of the above



64 Question Description Which number replaces the question mark?

A 25
B 41
C 18
D 23
E None of the above
Correct Answer D

Marks 1



65 Question Description The following questions are based on the two digit numbers given below:
91,82,64,49,81

If each number is multiplied by 5, what will be the sum of the first digit of the each of the numbers?

A 17
B 21
(5 15
D 16
E None of the above
Correct Answer A

Marks 1



66 Question Description
Preet's family had 6 members Preet, Geet, Shiva, Roop, Daya and Moni. Each of them was related to Preet in some manner: Mother, Father, Sister, Wife and
Brother. They were seated in a row, facing east. They were aged differently. It is known that any child and his/her spouse would be younger to his/her
parents. Any husband would not necessarily be elder to his wife.
Preet's wife was 32 years old.
Preet's father was 7 years younger than Preet's mother.
Geet was 29 years old and was to the immediate left of Preet's brother.
Daya was seated at one of the extreme ends at a gap of 3 from Preet's father.
Preet's father was to the immediate right of the one who was 30 years old.
Daya was 33 years elder to Moni.
Preet was 3rd to the left of his sister.
The one who was 34 years old was neighboringDaya.
Roop was to the immediate left of Moni.

Who among the following is the youngest in the family?

A Preet

B Preet’s wife

Cc Preet’s sister

D Shiva

E None of the above
Correct Answer C

Marks 1



67 Question Description Select the missing number from the given alternatives:

S 3 6
7 20 ?
9 21 (17
38 7 47
A 43,32
B 55,65
(9 43,48
D 43,55
E None of the above
Correct Answer D

Marks 1



68 Question Description 7,9, 12, 48, 2, 890

A 128

B 190

(9 172

D 168

E None of the above
Correct Answer C

Marks 1

69 Question Description A man is facing west. He turns 45° in the clockwise direction and then another 180° in the same direction and then 270° in the anti-clockwise direction.

Which direction is he facing now?

A South

B North-west

Cc West

D South-west

E None of the above
Correct Answer D

Marks 1



70 Question Description

Correct Answer

Marks

Directions: Study the following information carefully and answer the questions given below:

Twelve persons are sitting in two parallel rows containing six persons each, in such a way that there is an equal distance between adjacent persons. In row 1
— Joshi, Jaya, Jeet, Jamal, Juber and Jina are seated and all of them are facing south. In row 2 — Prem, Pinu, Pal, Punj, Poran and Pooja are seated and all of
them are facing north. Therefore, in the given seating arrangement each member seated in a row faces another member of the other row.

Only one person sits between Jaya and Jina. Joshi sits third to the left of Juber. Neither Prem nor Poran faces Juber or Joshi. Prem does not sit at an extreme
end. Jeet does not face Prem and Jeet does not sit at an extreme end of the line. Prem sits second to the right of Poran. Only one person sits between Pooja
and Pal. Neither Joshi nor Jubersit’s at extreme end of the line. Pooja is not an immediate neighbour of Pinu and Prem does not face Jina. Neither Pooja nor
does Pal face Juber. Pal does not sit at the extreme end.

How many person(s) sit(s) between Juber and Joshi?

None

One

Two

Three

None of the above



71 Question Description The distance between N and P is 50 m and that between Q and R is 40 m. Q is to the west of R, which is to the east of N at a distance of 70 m. P is to the
west or northwest or north of Q.
If Q is to the south of P, what is the distance between P and Q?

A 40m
B 35m
(9 80m
D 20m
E None of the above
Correct Answer A
Marks 1
72 Question Description When Anup saw Sandeep, he recalled, “He is the son of the father of my daughter’s mother.” Who is Sandeep to Anup?
A Brother-in-law
B Brother
c Cousin
D Uncle
E None of the above
Correct Answer A

Marks 1



73 Question Description In the following question, a matrix of certain characters is given. These characters follow a certain trend, row-wise or column-wise. Find out this trend and

choose the missing character accordingly

13125
1715 |8
25[24 |7
2%h1 o
A 7
B 9
C 11
D 15
E None of the above
Correct Answer A

Marks 1



74 Question Description

Correct Answer

Marks

Seven people — A, B, C, D, E, F and G — are having different hobbies, viz., Travelling, Reading, Dancing, Painting, Sculpting, Singing and Pottery making,
but not necessarily in the same order. Each of them belong to different State, viz., Punjab, Odisha, Kerala, Rajasthan, Maharastra, Gujarat and Karnataka, but
not necessarily in the same order. A belongs to Maharastra. D likes pottery making. The person who likes sculpting is from the State of Odisha. The person
who likes dancing is from the State of Gujarat. F does not belong to Gujarat, Odisha, Punjab or Rajasthan. F does not like singing, reading or painting. B
does not belong to Kerala, Odisha, Punjab or Rajasthan. B does not like painting, travelling, reading or singing. C does not like sculpting and he is not from
Rajasthan or Punjab. Neither D nor G belongs to Punjab. A does not like reading. The person from Kerala likes singing.

Who among the following likes singing?

A

G

None of the above



75 Question Description

Correct Answer

Marks

Ankit, Ankush, Amjad, Akash, Akshay, Ashish, Ashad and Arman, were sitting around a circular table, facing towards the centre. These persons were
playing cards and have won a different amount of money.

Amjad was sitting neighboring Ankush and Ashish and won Rs. 40. The person, who was sitting opposite to the person neighboring Ankit, won Rs. 30. One
of the persons won Rs. 50. Ankush was sitting third to the right of the person, who won the highest amount. Ankit was sitting exactly opposite to the one,
who won the highest amount. Every person won at least Rs. 20. Sum of the money won by Ashad and Arman was more than the money won by Ankush but
less than the one who won the highest amount. The sum of the amount won by Ankit and his neighbors was Rs. 200. Ankit won the less money than his
neighbors. Akash won Rs. 80, and was not an immediate neighbour of the one who won highest amount of money. Ankush and his neighbours and the
person sitting opposite to him did not win the least amount of money. Arman won more money than only one person. One of the persons won Rs. 20. The

person sitting opposite to Amjad won Rs. 60 which is half of the sum of the amount won by the ones, who won the highest and the lowest amount of money.

How many person(s) were sitting between the ones who won the highest amount and the least amount, when counted from the left of the one who won the
least amount?

None

One

Two

Three

None of the above



